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In 2014, turnover in the
manufacturing and distribution
industries totaled 13.7%

A new employee can take up to

)
=
~ 2-YEARS
e
@ to reach the same level of productivity as

a current staff member

S0 let’s say...
your distribution
facility has 1000
hourly employees

And the average salary for these employees is

$18.44 an hour

| $38,355.20 a year

Based on the industry turnover rate, your facility
would lose 137 employees over the
course of one year

DO THE MATH

(.16 X 38,355.20) X 137 = $840,746

What is turnove
costing you?
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